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° 555: 53
* -1)'-D)(-1)(-1)= (-1)*

* (a-6)(a-6)(a-6)= (a-6)’

* (V) () (xy) (xy) (xy)= (xy)’



-2)(-2)(-2) =-2)°
5 =15 125
071 =191 4
=9 j
1)* =1



¢ 5= 625
¢ 3° =243
o 77= 343
* -4 =256

e -2)1 =-
* (2’ =(-2)(-2) = 4
* (2 =(-2)(-2)(-2)(-2) = 16

Kakyrwo
3AKOHOMEPHOCHIb
MOMCHO 3amemumas?



1. 3:(-4)* =48
2. (-2)53=-96

3. 100:25- %} 2.128 =2



* Haiioume oovem Kyoa
Keaopama co c peopom 0,6 cm.
cmoponou 1,5 cm.

‘Cr‘ S=a V=a’
S =15"=225cm’ V=0,6=0216 cm’
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(qHTaTL ONpPEACIICHUEC BBIYUYHUTD).

« Ne 130-132 (a, 6), 152,155,159.









